SP@T

ON SQUARE

ron /n

roh

Model RC13001 1
Modéle RC13001

17

Thank you for purchasing the Roh Crib from Spot On Square. We are proud to be a part of your growing
family. We build our products with the safety of your child as our highest priority. In reading the

following instructions you will find a simple series of steps that will guide you in the assembly of your

Roh Crib. To avoid damage and ensure the safety of your child please follow the instructions carefully.

If you have questions about the assembly process or are missing any parts please contact us.

Merci d'avoir acheté un Roh Berceau de Spot On Square. Nous sommes fiers de faire partie de

votre famille grandissante. Nous construisons nos produits avec la sécurité de votre enfant comme
notre plus haute priorité. En lisant les instructions ci-aprés vous trouverez une serie de mesures simples
qui vous guideront dans lassemblage de votre Roh Berceau. Pour éviter des dommages et assurer la
securité de votre enfant s'il vous plait suivre les instructions attentivement.

Si vous avez des guestions sur le procede d’assemblage ou vous manguez quelgue chose,
contactez-nous s'il vous plait.

Spot On Square LLC
PO Box 6241

San Rafael, CA 94903
Toll-free (800) 308-0046
info@spotonsquare.com
www.spotonsquare.com



How to Care for Acrylic:

e Do not use abrasives or bottled cleaners that have alcohol, ammonia or citrus as they can dull the
clear finish.

e Do not use a paper towel to clean acrylic as it will scratch the surface.

e Wipe acrylic on a regular basis with a soft cloth to keep dust away. We recommend a microfiber
cloth, other types of cloths may scratch the acrylic surface.

e Forregular cleaning, we recommend using water and a microfiber cloth only.

e For the occasional need to wash the acrylic sides, we suggest a mild dishwashing soap (1-2 drops)
and lukewarm water solution. Wash with a damp microfiber cloth. Rinse well. Dry by blotting with a
damp cloth or chamois.

e |f you would like to use a commercial cleaning prod uct, we recommend Craftics® 20/20 Cleaner. It is
certified non-toxic and specially formulated to cle an acrylic and other hard plastic surfaces.

Comment entretenir un meuble en Acrylique :

e Ne pas utiliser de tissus abrasifs ou de produits dentretien a base d’agrumes, contenant de
I'alcool ou de 'ammoniaque, cela risquerait d’altéer la finition brillante.

e Ne pas utiliser d’essuie-tout pour nettoyer un meuble en acrylique, vous risqueriez de rayer la
surface.

e Nettoyer régulierement la surface avec un chiffon doux afin d’enlever la poussiere du meuble. Nous
recommandons un tissu en microfibres, les autres types de tissu pouvant endommager la surface du
meuble.

e Pour un entretien régulier, nous recommandons I'usage d’un tissu en microfibres et de I'eau.

e Lors d’'un nettoyage occasionnel des parois en acrylique, nous recommandons l'utilisation d’un
liguide vaisselle (1-2 gouttes) doux et de I'eau tiede. Nettoyer la paroi avec un tissu en microfibres
humide. Rincer abondamment. Sécher en tamponnant avec une peau de chamois ou un tissu doux
légeérement humide.

e Sivous souhaitez utiliser un produit d’entretien classique, nous recommandons Craftics20/20
Cleaner. Certifié non toxique et spécialement formulé pour I'entretien et le nettoyage des surfaces
en acryliques et plastiques.

SP@T

ON SQUARE




A WARNING

Failure to follow these warnings and assembly instructions could result in serious injury or death.

CAUTION: Any mattress used in this
crib must be at least 27 1/4 inches by
51 5/8 inches (69 cm x 131 cm) with
a thickness not exceeding 6 inches
(15 cm).

READ ALL INSTRUCTIONS BEFORE ASSEMBLING CRIB. KEEP THE MANUAL FOR FUTURE USE.
Use and Care

*To reduce the risk of SIDS, pediatricians recommend healthy infants be placed on their backs to
sleep, unless otherwise advised by your physician.

Strangulation Hazard

*Strings can cause strangulation! Do not place items with a string around a child’s neck, such as
hood strings or pacifier cords. Do not suspend strings over a crib or attach strings to toys.

*To help prevent strangulation tighten all fasteners. A child can trap parts of the body or clothing on
loose fasteners.

*DO NOT place crib near window where cords from blinds or drapes may strangle a child.

Fall Hazard

*When child is able to pull to a standing position, set mattress to lowest position and remove bumper
pads, large toys and other objects that could serve as steps for climbing out.

*When child is able to climb out or reaches the height of 35 in. (90 cm), the crib shall no longer be
used.

*Check this product for damaged hardware, loose joints, missing parts or sharp edges before and
after assembly and frequently during use. DO NOT use crib if any parts are missing, damaged or
broken. Ask dealer or contact Spot On Square for replacement parts and instructional literature if
needed. DO NOT substitute parts.

*DO NOT use a water mattress with this crib.

Check fasteners periodically for tightness. Do not overtighten. This may cause distortion or breakage.
*Never use plastic shipping bags or other plastic film as mattress covers because they can cause
suffocation.

*Infants can suffocate in gaps between crib sides and a mattress that is too small.

*Parents should ensure a safe environment for their child by checking the crib regularly before placing
the child in the product. Please make sure that every component is properly and securely in

place.

*Do not use abrasive chemicals for cleaning. Wipe with a soft cotton cloth, moistened with water. If
refinishing, use a non-toxic finish specified for children’s products.

*Follow warnings on all products in a crib.

* Infants can suffocate on soft bedding. Never add a pillow or comforter. Never place additional
padding under an infant. See top of mattress platform for warnings.



A WARNING

Do not use this crib if you cannot exactly follow the accompanying instructions.

Do not use this crib for a child who can climb out of it or who is taller than 90 cm.

Do not place in or near this crib any cord, strap or similar item that could become wrapped around a
child's neck.

Do not place this crib near a window or a patio door where a child could reach the cord of a blind or
curtain and be strangled.

Ensure that the sides of this crib are properly latched or locked in the appropriate position when a child is
left unattended in it.

Check this crib regularly before using it and do not use it if any parts are loose or missing or if there are
any signs of damage. Do not substitute parts. Contact the manufacturer if replacement parts or additional
instructions are needed.

Use a crib mattress that is no thicker than 15 cm and is of such a size that, when it is pushed firmly against
any side of the crib, it does not leave a gap of more than 3 cm between the mattress and any part of the
sides of the crib.

Children can suffocate on soft bedding. Do not place pillows, comforters or soft mattresses in this crib.

CANADIAN REGULATIONS

A MISE EN GARDE

Ne pas utiliser le lit a moins d'étre en mesure de suivre précisément les instructions qui laccompagnent.
Ne pas utiliser le lit si I'enfant est capable d'en sortir ou mesure plus de 90 cm.

Ne pas mettre dans le lit ou a proximité de celui-ci des cordes, courroies ou objets semblables qui
risqueraient de s'enrouler autour du cou de l'enfant.

Ne pas placer le lit pres d'une fenétre ou d'une porte-fenétre ou l'enfant pourrait se saisir des cordes d'un
store ou d'un rideau et s'étrangler.

S'assurer que les cbtés du lit, dans le cas ou I'enfant y est laissé sans surveillance, sont bien enclenchés
ou verrouillés a la position appropriée.

Verifier regulierement le lit préalablement a son utilisation et ne pas I'utiliser en cas de détection d'une
piece desserrée, de piece manquante ou de tout signe de dommages. Ne pas substituer une piece a une
autre. Communiquer avec le fabricant pour obtenir, au besoin, une piece de rechange ou des instructions
supplémentaires.

Utiliser un matelas pour lit d'enfant dont I'épaisseur est d'au plus 15 cm et dont la superficie permet
d'empécher, lorsqu'il est poussé fermement contre un c6té quelconque du lit, qu'un espace de plus de 3
cm soit créé entre le matelas et une partie quelconque de tout coté.

L'enfant peut s'étouffer en présence darticles de literie mous. Ne pas mettre dans le lit d'oreiller, d'édredon
ou de matelas mou.

REGLEMENTATIONS CANADIENNES



parts

présentation
o °° . |F | mattress platform [ 1 piece |
[A]  crib side 1 piece
|G| crib side top 1 piece |
|B] cribends |2 pieces |H [crib side SIDE RIGHT]| 1 piece | J | crib side SIDE LEFT | 1 piece

| legmiddle [ 1 piece |

IK\ crib side bottom 1 piece

T

D] legsides |2 pieces]|

]

[E| legbases |4 pieces

U U L U L U L L U U - U

A1 acrylic 1 piece




hardware
matériel

[I J

|L [ 26x30 dowel [12 pieces]

MY

[P M6x50 bolt |20 pieces |

| S [ @7x14 screw |8 piecesl

M

[V [ M6x30 screw [16 pieces|

|Y | @8x50 dowel | 4 pieces

tools
outils

[Z] M4 nexkey |1 piece

1Z1] screwdriver | 1 piece

[M[@10x18 cross dowel | 12 pieces |

IN| lock washer [28 pieces

[Q[M6 metal head [4 pieces

'R| 28x30 dowel [12 pieces

7!

4 pieoes\

| U [@1 0x14 cross dowel | 8 pieces

i O

O

|w|Cross dowel w/2 holes | 4 pieces |

i

[ X]| M6x20 bolt |8 pieces |

A WARNING

Hardware components are a choking hazard
and should be kept out of reach of children.

A MISE EN GARDE

Les pieces d'assemblage peuvent étre
avalées. Tenir hors de portée des enfants.

— ]







step 3
étape 3 ——)

step 4

étape 4 o
P |‘-III|I|IIII|I|II|IIIII|II|I|III|II|IIII|I|IIII|I|I| @ —

[PT M6x50 bott |12 pieces 1 piece

Attaching ends to side panels:

Lay side panels (A) on clean flat surface and
push cross dowels (M) in the holes. Orient the
slot on cross dowel in a horizontal position (see
above drawing). Position the end panels, with
mattress support anchors on the inside (B) and
insert screws (P) in holes.Tighten screws (Do
not over tighten).Repeat this on all four corners
of the crib.

[M]210x18 cross dowel[ 12 pieces

Attachez les extrémites aux cotés.

Posez les cotés du berceau (A) sur une surface plate,
propre et poussez des chevilles fachées (M) dans les
trous. Orientez chaque trou dans une position
horizontale dans la cheville correspondante (voir le
schéma ci-dessus). Placez les panneaux d’extrémité
avec les ancres de soutien du matelas a l'intérieur (B)
et insérez les vis (P) dans les trous prévus a cet effet.
Vissez correctement mais sans forcer ; répétez cette
opération aux quatre coins du berceau.



step5 [ ]

etape 5

step 6 ﬂ:ﬂ

étape 6  [Erosmae i)

step 7

etape 7 ”-||||||||||||||||||||||| C=———=

I
[P Wix50 bk & pieces |

©10x14 cross dowel




V
NG\ —{ =0==BE
i\ 5
_ \\ % A
\\ I

Ty

STIY
A7
(@)

Va9 Y

N

Wm
2
m
>
©
© g
JoXe!




step 9
étape 9

—038 {um

4 pieces ©7x14 screw_|8 pieces

|
| 1 | y
Il
—k |
1
=]
| |
i ! )
|
111 )|
]
111 J
|
11 )
]
| 1 | J
Il
| — | — I | 9
Il
TL |
Il

Locate the three height positions on the inside of the
end panels. Determine which of the three platform
positions will be used and push the platform support
(T) into the corresponding holes (4 places).
Localisez les trois positions de hauteur a l'intérieur
des panneaux d’extrémité. Déterminez la hauteur
souhaitée et insérez le sommier (T) dans les trous
correspondants (a 4 endroits).

’=:T=T=T= CATTTrUou
————————77 —————————————— \
IS | sl
rT_\Dr\F »( '/S;m\\r Mse
| I \ SJ;T/VAJ% ww J -
.

\




step 10

étape 10 /%

[N] lock washer [4 pieces]  [Q]M6 metal head [4 pieces

A WARNING

*When child is able to pull to a standing position, set
mattress to lowest position and remove bumper
pads, large toys and other objects that could serve
as steps for climbing out.

*Place full size mattress in crib before use.

Storage: store in a cool, dry location.

A MISE EN GARDE

*Lorsque l'enfant est capable de se mettre en
position debout, placez le matelas a la position la
plus basse et enlevez les bordures de protection, les
grands jouets et des autres objets qui pourraient
permettre a l'enfant de sortir.

*Placez le matelas dans le berceau avant de I'utiliser.

Stockage: stocker dans un endroit frais et sec.

Lower the mattress platform into the
crib with the top side up (noted on
platform). Align the platform with the
platform supports (4 places) and
screw in M6 metal head nut (Q) and
washer (N). Place full size mattress
in crib before use. Assembly is now
complete. To adjust the platform
level repeat steps 9 and 10
selecting appropriate position.

Placez le sommier du berceau en
retournant celui-ci (come indiqué
sur le schéma). Alignez le sommier
avec les cbtés du berceau (4
endroits) et vissez les vis de M6 en
metal (Q) avec les vis Lock Washer
(N). Placez ensuite le matelas dans
le berceau avant son utilisation.
Régler la hauteur du sommier en
répétant les étapes 8 et 9 a la
hauteur choisie.



